Notes on how an increase in the money supply impacts the economy from a neo-Classical Theory perspective.
Fisher used the Classical theory to support his Quantity Theory of Money (MV=PY). After years of discussion from economists, the old Classical Theory was adjusted to show that there could be some short term variations from full employment GDP. The neo-Classicalists added the ASSR line. Using the neo-Classical Theory allows us to view Fisher’s Theory and more contemporary theories regarding the impact of the money supply on the economy.

The following explains how an increase in the money supply affects prices, real GDP, employment, unemployment, real wages and real interest rates. If the economy is slow, the Keynesians would suggest increasing the money supply. But Fisher would say that increasing the money supply simply increases prices. It would not have any real affects on the economy because money is neutral. 

Using the four graphs below, we can walk through the neo-Classical view of how an increase in the money supply impacts output, employment, real wages, prices, real interest rates, investment, savings and unemployment. 

In the goods market, the y-axis measures the price level. The price level is the measure of inflation in the economy. This inflation measure could be the CPI or GDP deflator. The x-axis measures the real GDP. The real GDP is the measured in growth rates. YFE is the full employment GDP. At full employment, the country is using their resources efficiently. Also, using Okun’s Law, as real GDP increases (or moves to the right) the unemployment rate decreases. Therefore, unemployment can also be measured on the x-axis inverse to real GDP growth.
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In the money market, interest rates are measured on the y-axis and the quantity of money is measured on the x-axis.
In our example, we will assume that the economy is at point A. At point A, GDP is at the full employment level. Prices are at P* and unemployment is at 5.5 percent (the natural rate). w/p* is the real wage rate which is at equilibrium. E* is the employment level. r* shows the interest rate, M* is the quantity of money in the economy; I* is the amount of investment. 

The market on the upper right is the labor market. The y axis measures the real wages. The real wages is the nominal wage adjusted for inflation, w/p. It measures a workers purchasing power. If prices increase by a greater percentage than wages then the real wage will fall. When real wages fall employers are more likely to hire. Why? (1) they are not paying as much in real terms, (2) the price increases help the companies to sell their product for a higher price. The higher prices lead to higher profits, higher profits lead to more hiring.

The graph on the bottom right is the investment/savings graph. Investment does not represent money put in the stock market or other so called “financial investments.” Investment refers to money spent by businesses on equipment, inventory or other physical assets. There is an inverse relationship between interest rates and investments. Savings can be defined as income that is not spent. In our example, real interest rates are at equilibrium (which is most likely between 2 and 3 percent). 
Investment is a component of real GDP. C+I+G = GDP, in an open economy C+I+G+X-M = GDP.  Savings is a component of real GDP,  C+S+T = GDP. This is the income approach in a closed economy. 
Policy action: According to Fisher and the neo-Classicalists
The Federal Reserve wants to speed-up a slow economy. The Federal Reserve Bank should increase the money supply from M* to M’. This increase in the money supply will cause the interest rate to fall from r* to r’.  

When the interest rate falls from r* to r’, business are more likely to invest in new plants, equipment and inventory, consumers are more likely to borrow for homes and cars. Therefore, the money demand curve shifts to Md’.
Since the AD curve measures real GDP from an expenditures approach C+I+G+X-M, an increase in I and C holding all of the other factors constant causes the AD curve to shift right to AD’. 

When AD shifts to AD’, GDP rises from YFE to Y* .  Prices rise from P* to P driving w/p down to w/p’. The increase in prices causes the workers to ask for wage increases. As the wages increase, the ASSR line shifts left to ASSR’.  

A new equilibrium is reached at point C.

In the labor market, when prices fell, the real wage temporarily decreased from w/p* to w/p’. As a result of the lower wages, the employers were more likely to hire workers. Therefore, employment rose from E* to E’. 

In the investment market, the increase in prices caused the real interest rate to temporarily fall; the lower interest rate caused savings to decrease. The investment/savings market adjusts back to its original level of r and I. 

The end result according to the neo-Classicalist…
When the economy is slow, the Federal Reserve Bank’s increase in the money supply simply causes prices to rise.  Real GDP, employment, unemployment, real wages, and real interest rates stay the same. 
